
epak fpuakplYk; Kuz; gFg;gha;Tk; 

 
epakf; fpuakply; 

epakf; fpuak; vd;gJ Fwpg;gpl;l njhopw;ghL epge;jidfSf;Nfw;wthW Kd;dNu 
jPh;khdpf;fg;gl;l fpuakhFk;. epakf; fpuakplyhdJ nghUl;fs; kw;Wk; Nritfspd; 

fpuaq;fSf;F Kd;dNu jPh;khdpf;fg;gl;l kjpg;gpLfis epWtp, mtw;iw cz;ikahd 

fpuaq;fNshL xg;gpl;L Kuz;fis fz;lwpe;J, mk;Kuz;fis fl;Lg;gLj;j Njitahd 
eltbf;iffis vLf;Fk; xU El;gkhFk;. 

epakf; fpuakplypd; mD$yq;fs;  

 ,J Kfhikj;Jtj;jpw;F  tpiy kw;Wk; cw;gj;jp nfhs;if tbtikg;gpy; cjTfpwJ. 

 ,J nraw;jpwDf;fhd msTNfhyhf nray;gLfpwJ. 

 ,J jtpu;f;ff;$ba fopT kw;Wk; ,og;Gf;fis Fiwf;fpwJ. 

 ,J ghjPLfis mikf;Fk; nray;Kiwf;F cjTfpwJ.  

 ,J tpidj;jpwid Nkk;gLj;j cjTfpwJ.  

 ,J Copau;fisAk; Kfhikj;Jtj;ijAk; Cf;Ftpf;f cjTfpwJ. 

 ,J tpjptpyf;F %yk; Kfhikj;JtnkDk; nfhs;ifia (management by exception 

principle) nraw;;gLgj;j cjTfpwJ. 

 ,J Kd;Ndhf;F kdepiyia Cf;Ftpf;fpwJ. 

 ,J rupahd Neuj;jpy; fpua mwpf;iffs; kw;Wk; njhopw;ghl;Lf; $w;Wf;Ffis mikf;f 
cjTfpwJ. 

 ,J fl;Lg;ghl;L rhjdkhf nray;gLfpwJ.  

 
epak fpuakplypd; tiuaiwfs; 

 ,J tpiyAau;e;jJ kw;Wk; Neu tpiuakhdJ. 

 tpidj;jpwdw;w Copau;fshy; ,e;j Kiwikia ,af;f ,ayhJ  

 Rpwpa epWtdq;fSf;F ,J tpiyAau;e;jJ. 

 jdpj;j/NtWg;gl;l nghUl;fSf;F (non-standardized products) ,J gadw;wJ. 
 

Kuz; gFg;gha;T 

 

Neu; nghUs; Kuz;fs; (Direct Material Variances) 

 

 

Neu; nghUs; fpua Kuz;
Direct Material Cost Variance

Neu; nghUs; tpiy Kuz;
Direct Material Price Variance

Neu; nghUs; ghtid Kuz;
Direct Material Usage Variance 



Neu; nghUs; fpua Kuz;                          -      

 

my;yJ 

      

Neu; nghUs; fpua Kuz;    Neu; nghUs; tpiy Kuz; +   

 

 

Neu; nghUs; tpiy Kuz;                          -     

 

Neu; nghUs; ghtid Kuz;                           -    

 
 

 
cjhuzk;:  

nghUs; X apw;fhd Neu; nghUs; fpuak; - [2fp.fpuhk;, 1fp.fpuhk; &.150/- tPjk;]  -  &.300 

khjjpw;fhd cz;ikahd cw;gj;jp   - 49,000 myFfs; 

cz;ikahd Neu; nghUs; ghtid       -  100,000fp.fpuhk; (1fp.fpuhk; &.145/- tPjk;) 

Neu; nghUs; Kuz;fisf; fzpf;Ff. 

 

 

Neu; nghUs; tpiy Kuz;                         -  
= 100,000 fp.fpuhk; (150 – 145) 

=  100,000 x 5 

=  500,000 (rhjfk;) 

nka; Neu; nghUs; tpiy epak Neu; nghUs; tpiyapid tpl Fiwthdjhy;, ,J rhjfkhd 
KuzhFk;. 

 

 

 

 

 

cz;ikahd cw;gj;jpw;fhd 
epak Neu; nghUs; fpuak;  

nka; Neu; nghUs; fpuak; 

   

Neu; nghUs; ghtid Kuz;

    

 epak Neu; 
nghUs; 
tpiy 

cz;ikahd 
cw;gj;jpw;fhd 
epak Neu; nghUs; 
ghtid 

cz;ikahd 
cw;gj;jpw;fhd 
nka; Neu; nghUs; 
ghtid 

( 

( 
nka; Neu; 
nghUs; 
nfhs;tdT 

epak Neu; 
nghUs; tpiy 

nka; Neu; nghUs; 
tpiy ( 

( 

nka; Neu; 
nghUs; 
nfhs;tdT 

epak Neu; 
nghUs; tpiy 

nka; Neu; nghUs; 
tpiy ( 

( 



 

Neu; nghUs; ghtid Kuz;                           -    

 
 

= 150; (49,000 x 2fp.fpuhk; – 100,000fp.fpuhk;) 

=  150 (98,000 – 100,000) 

=  300,000 (ghjfk;) 

nka; Neu; nghUs; ghtid epak Neu; nghUs; ghtidia tpl mjpfkhdjhy;, ,J 
ghjfkhd KuzhFk;.  

 

Neu; nghUs; fpua Kuz;                             -      

 

= (49,000 x 2fp.fpuhk; x 150  –  100,000fp.fpuhk; x 145) 

=  14,700,000 – 14,500,000 

=  200,000 (rhjfk;) 

my;yJ 

   Neu; nghUs; tpiy Kuz; +   

= 500,000 (rhjfk;)  +  300,000 (ghjfk;) 

=  200,000 (rhjfk;) 

 

Neu; $yp Kuz;fs; (Direct Labour Variances) 

 

 

Neu; $ypf; fpua Kuz;                              -      

 

my;yJ 

      

           Neu; $yp tpfpj Kuz;; +   

Neu; $ypf; fpua Kuz;
Direct Labour Cost Variance

Neu; $yp tpfpj Kuz;
Direct Labour Rate Variance

Neu; $yp tpidj;jpwd; Kuz;
Direct Labour Efficiency Variance 

 epak Neu; 
nghUs; 
tpiy 

cz;ikahd 
cw;gj;jpw;fhd 
epak Neu; nghUs; 
ghtid 

cz;ikahd 
cw;gj;jpw;fhd 
nka; Neu; nghUs; 
ghtid 

( 

( 

cz;ikahd cw;gj;jpw;fhd 
epak Neu; nghUs; fpuak;  

nka; Neu; nghUs; fpuak; 

   

Neu; nghUs; ghtid Kuz;

    

cz;ikahd cw;gj;jpw;fhd 
epak Neu; $yp fpuak;  

nka; Neu; $yp; fpuak;  

  

Neu; $yp tpidj;jpwd; 
Kuz;    



 

 Neu; $yp tpfpj Kuz;                                  -    

 

 

Neu; $yp tpidj;jpwd; Kuz;                               -  
   

 
cjhuzk;:  

fle;j khjj;jpw;fhd nghUs; Y apd; Neu; $yp fpuak; fPo;tUkhW: 

Neu; $yp epakf; fpuak;; - 3kzpj;jpahyq;fs;, kzpj;jpahyj;jpw;F &.100/- tPjk;  

cz;ikahd cw;gj;jp   - 1,000 myFfs; 

cz;ikahd Neu; $yp; fpuak; -  &.326,400 (cz;ikahd Neu; $yp kzpj;jpahyq;fs;- 3,200) 

Neu; $yp; Kuz;fisf; fzpf;Ff 

 

 nka; Neu; $yp; tpfpjk;  = 326,400 

                                                      3200  

                                                   = kzpj;jpahyj;jpw;F &.102/- 
 
 

 Neu; $yp tpfpj Kuz;                                  -    

 

= 3,200 kzpj;jpahyq;fs; (100  –  102) 

=  6,400 (ghjfk;) 

nka; Neu; $yp; tpfpjk;  epak Neu; $yp; tpfpjj;ij tpl mjpfkhdjhy;, ,J ghjfkhd 
Kuz;zhFk;.  

 

Neu; $yp tpidj;jpwd; Kuz;                               -    

 

= 100 (1,000 myFfs; x 3  –  3,200) 

= 100 (3,000 –  3,200) 

=  20,000 (ghjfk;) 

cz;ikahd 
Neu; $yp 
kzpj;jpahyq;fs; 

epak Neu; 
$yp; tpfpjk;

  

nka; Neu; $yp; 
tpfpjk;  ( 

( 

epak Neu; 
$yp; tpfpjk; 

cz;ikahd 
cw;gj;jpw;fhd 
epak Neu; $yp 
kzpj;jpahyq;fs;;

  

cz;ikahd 
Neu; $yp 
kzpj;jpahyq;fs;

  

( 

( 

cz;ikahd 
Neu; $yp 
kzpj;jpahyq;fs; 

epak Neu; 
$yp; tpfpjk;

  

nka; Neu; $yp; 
tpfpjk;  ( 

( 

epak Neu; 
$yp; tpfpjk; 

cz;ikahd 
cw;gj;jpw;fhd 
epak Neu; $yp 
kzpj;jpahyq;fs;;

  

cz;ikahd 
Neu; $yp 
kzpj;jpahyq;fs;

  

( 

( 



cz;ikahd Neu; $yp kzpj;jpahyq;fs;  epak Neu; $yp; kzpj;jpahyq;fis tpl 

mjpfkhdjhy;, ,J ghjfkhd KuzhFk;.  

 

Neu; $ypf; fpua Kuz;                              -      

 

= 1,000 x 300; –  326,400) 

= (300,000 –  326,400) 

=  26,400 (ghjfk;) 

 
my;yJ 

      

           Neu; $yp tpfpj Kuz;; +   

= 6,400 (ghjfk;)  +  20,000 (ghjfk;) 

=  26,400 (ghjfk;) 

 

khWk; Nke;jiy Kuz;fs; (Variable Overheads – VOH Variances) 

 

       

 khWk; Nke;jiy fpua Kuz;                           -      

 

my;yJ 

      

           khWk; Nke;jiy nrytpd Kuz;; +   

 

 

 

 

 

khWk; Nke;jiy fpua Kuz;

VOH Cost Variance

khWk; Nke;jiy nrytpd Kuz;;

VOH expenditure Variance

khWk; Nke;jiy tpidj;jpwd; Kuz;

VOH efficiency Variance 

cz;ikahd cw;gj;jpw;fhd 
epak Neu; $yp fpuak;  

nka;; Neu; $yp; fpuak;  

  

Neu; $yp tpidj;jpwd; 
Kuz;    

cz;ikahd cw;gj;jpw;fhd 
epak khWk; Nke;jiy fpuak;  

nka; khWk; Nke;jiy fpuak; 

   

khWk; Nke;jiy tpidj;jpwd; 
Kuz;   



 

 khWk; Nke;jiy nrytpd Kuz;                               -    

 

my;yJ 

 

 

 

 

khWk; Nke;jiy tpidj;jpwd; Kuz;                               -   

 
  

 
cjhuzk;:  

nghUs; A apd; epak khWk; Nke;jiy fpuak;; - &.30/- [2kzpj;jpahyq;fs;, kzpj;jpahyj;jpw;F 

&.15/- tPjk;]   

cz;ikj; jfty;;fs; fPo;tUkhW: 

nka; khWk; Nke;jiy fpuak;; - &.8,000/-  

cz;ikahd Neu; $yp kzpj;jpahyq;fs; - 500 kzpj;jpahyq;fs; 

cz;ikahd cw;gj;jp   - 200 myFfs; 

khWk; Nke;jiy Kuz;fisf; fzpf;Ff 

 

nka; khWk; Nke;jiy tpfpjk;  = 8,000 

                                                                     500  

                                                   = kzpj;jpahyj;jpw;F &.16/- 

 

 khWk; Nke;jiy nrytpd Kuz;                               -    

 

= 500 (15 –  16) 

=  500 (ghjfk;) 

cz;ikahd 
Neu; $yp 
kzpj;jpahyq;fs; 

epak khWk; 
Nke;jiy 
tpfpjk;  

nka; khWk; 
Nke;jiy 
tpfpjk;  

( 

( 

epak khWk; 
Nke;jiy 
tpfpjk; 

cz;ikahd 
cw;gj;jpw;fhd 
epak Neu; $yp 
kzpj;jpahyq;fs;;

  

cz;ikahd 
Neu; $yp 
kzpj;jpahyq;fs;

  

( 

( 

cz;ikahd 
Neu; $yp 
kzpj;jpahyq;fs; 

kzpj;jpahyj;jpw;
fhd khWk; 
Nke;jiy 
cwpQ;ry; tpfpjk;

  

cz;ikahd 
khWk; Nke;jiy 
fpuak;  

( 

( 
- X 

cz;ikahd 
Neu; $yp 
kzpj;jpahyq;fs; 

epak khWk; 
Nke;jiy 
tpfpjk;  

nka; khWk; 
Nke;jiy 
tpfpjk;  

( 

( 



nka; khWk; Nke;jiy; tpfpjk;   epak khWk; Nke;jiy tpfpjj;ij tpl mjpfkhdjhy;, ,J 
ghjfkhd KuzhFk;. 

 

khWk; Nke;jiy tpidj;jpwd; Kuz;                               -   
 

= 15 (200 x 2 –  500) 

=  15 (400 -500) 

=  1,500 (ghjfk;) 

cz;ikahd Neu; $yp kzpj;jpahyq;fs;; epak Neu; $yp kzpj;jpahyq;fis tpl 

mjpfkhdjhy;, ,J ghjfkhd KuzhFk;. 

 

 khWk; Nke;jiy fpua Kuz;                           -      

 

= (200 x 30 –  8,000) 

=   6,000 – 8000 

=  2,000 (ghjfk;) 

my;yJ 

      

           khWk; Nke;jiy nrytpd Kuz;; +   

  
= 500 (ghjfk;) +  1,500 (ghjfk;) 

=  2,000 (ghjfk;) 

 

epiyahd Nke;jiy Kuz;fs; (Fixed Overheads – FOH Variances) 

 

epiyahd Nke;jiy fpua Kuz;                            -      

epiyahd Nke;jiy fpua Kuz;

FOH Cost Variance

epiyahd Nke;jiy nrytpd Kuz;;

FOH expenditure Variance

epiyahd Nke;jiy fdtsT Kuz;

FOH Volume Variance 

epak khWk; 
Nke;jiy 
tpfpjk; 

cz;ikahd 
cw;gj;jpw;fhd 
epak Neu; $yp 
kzpj;jpahyq;fs;;

  

cz;ikahd 
Neu; $yp 
kzpj;jpahyq;fs;

  

( 

( 

cz;ikahd cw;gj;jpw;fhd 
epak khWk; Nke;jiy fpuak;  

nka; khWk; Nke;jiy fpuak; 

   

khWk; Nke;jiy tpidj;jpwd; 
Kuz;   

cz;ikahd cw;gj;jpw;fhd 
epak epiyahd Nke;jiy 
fpuak;  

nka; epiyahd Nke;jiy 
fpuak;    



 
my;yJ 

      

                                      +   

 

epiyahd Nke;jiy nrytpd Kuz;                         -    

 

 

epiyahd Nke;jiy fdtsT Kuz;                               -   
 

 
my;yJ 

  

 

 

 

 
cjhuzk;:  

fle;j Mz;bw;fhd  ghjplg;gl;l kw;Wk; cz;ikj; jfty;;fs; fPNo jug;gl;Ls;sd: 

ghjplg;gl;l jfty;;fs; 

ghjplg;gl;l epiyahd Nke;jiy fpuak; - &. 120,000 

 ghjplg;gl;l Neu; $yp kzpj;jpahyq;fs; - 100,000 ( 50 Ntiy thuq;fs;, thuj;jpw;F 40 
kzpj;jpahyq;fs; tPjk;) 

 
ghjplg;gl;l cw;gj;jp – 20,000myFfs; 

cz;ikj; jfty;;fs; 

cz;ikahd cw;gj;jp   - 21,000 myFfs; 

nka; epiyahd Nke;jiy fpuak;; - &.115,500/-  

cz;ikahd Neu; $yp kzpj;jpahyq;fs; - 104,000 kzpj;jpahyq;fs; 

epiyahd Nke;jiy Kuz;fisf; fzpf;Ff. 

 

epiyahd Nke;jiy fdtsT 
Kuz;   

kzpj;jpahyj;jpw;
fhd ghjplg;gl;l 
epiyahd 
Nke;jiy 
cwpQ;ry; tpfpjk; 

cz;ikahd 
cw;gj;jpw;fhd 
epak Neu; $yp 
kzpj;jpahyq;fs;;

  

ghjplg;gl;l  
Neu; $yp 
kzpj;jpahyq;fs;

  

( 

( 

epiyahd Nke;jiy nrytpd 
Kuz;  

ghjplg;gl;l epiyahd 
Nke;jiy fpuak;  

nka; epiyahd Nke;jiy 
fpuak;    

myFnfhd;;;Wf;fhd 
epiyahd 
Nke;jiy 
cwpQ;ry; tpfpjk; 

cz;ikahd 
cw;gj;jp 
myFfs;  

ghjplg;gl;l 
cw;gj;jp 
myFfs; 

  

( 

( - 



 

epiyahd Nke;jiy nrytpd Kuz;                         -    

= 120,000 – 115,500 

=  4,500 (rhjfk;) 

 

 

epiyahd Nke;jiy fdtsT Kuz;                               -   
 

= 120,000 (21,000 x 100,000  – 100,000) 

     100,000                    20,000 

=  1.20  (105,000 – 100,000) 

=  6,000 (rhjfk;) 

 

my;yJ 

   

 

 

= 120,000 (21,000 – 20,000) 

      20,000 

=  6  (21,000 – 20,000) 

=  6,000 (rhjfk;) 

 

 

epiyahd Nke;jiy fpua Kuz;                            -      

= (120,000 x 21,000  –  115,500) 

       20,000  

=  (126,000 – 115,500) 

=  10,500 (rhjfk;) 

 

my;yJ 

ghjplg;gl;l epiyahd 
Nke;jiy fpuak;  

nka; epiyahd Nke;jiy 
fpuak;    

kzpj;jpahyj;jpw;fhd 
ghjplg;gl;l 
epiyahd Nke;jiy 
cwpQ;ry; tpfpjk; 

cz;ikahd 
cw;gj;jpw;fhd 
epak Neu; $yp 
kzpj;jpahyq;fs;;

  

ghjplg;gl;l  
Neu; $yp 
kzpj;jpahyq;fs;

  

( 

( 

myFnfhd;;;Wf;fhd 
ghjplg;gl;l 
epiyahd Nke;jiy 
cwpQ;ry; tpfpjk; 

cz;ikahd 
cw;gj;jp 
myFfs;  

ghjplg;gl;l 
cw;gj;jp 
myFfs; 

  

( ( - 

cz;ikahd cw;gj;jpw;fhd 
epak epiyahd Nke;jiy 
fpuak;  

nka; epiyahd Nke;jiy 
fpuak;    



      

                                      +   

 

= 4,500 (rhjfk;) + 6,000 (rhjfk;) 

=  10,500 (rhjfk;) 

 

cjhuzk; :  

t/T X fk;gdp epakf; fpuakply; Kiwikia njhopw;gLj;Jfpd;wJ. 2016 bnrk;gu; khjj;jpw;F 

ghjplg;gl;l cw;gj;jp/tpw;gid 19,200 myFfSk;. khjjpw;fhd ghjplg;gl;l epiyahd 

Nke;jiy fpuak; - &. 345,600 MFk;. 

epakf; fpua ml;il fPo;tUkhW. 

 
khjjpw;fhd cz;ikj; jfty;;fs; 
 
Neu; nghUs; fpuak;        &.392,000 (40,000fp.fpuhk;) 
cz;ikahd cw;gj;jp        19,000 myFfs; 
Neu; $yp;; fpuak;            &.1,364,000 (62,000 kzpj;jpahyq;fs;) 
khWk; Nke;jiy fpuak;;       &.558,000/ 
epiyahd Nke;jiy fpuak;     &.361,000 

 
 

Gpd;tUk; Kuz;fisf; fzpf;Ff.  

1. Neu; nghUs; tpiy Kuz; 
2. Neu; nghUs; ghtid Kuz;  
3. Neu; nghUs; fpua Kuz; 
4. Neu; $yp tpfpj Kuz;  
5. Neu; $yp tpidj;jpwd; Kuz;  
6. Neu; $ypf; fpua Kuz;  
7. khWk; Nke;jiy nrytpd Kuz;  
8. khWk; Nke;jiy tpidj;jpwd; Kuz; 
9. khWk; Nke;jiy fpua Kuz; 
10. epiyahd Nke;jiy nrytpd Kuz; 
11. epiyahd Nke;jiy fdtsT Kuz; 
12. epiyahd Nke;jiy fpua Kuz;   

 

 

 

 &. 

Neu; nghUs; (2 fp.fpuhk; @ &.10/- tpiyg;gb)  20 

Neu; $yp (3 kzpj;jpahyq;fs; @ &.24/- tPjg;gb) 72 

khWk; Nke;jiy (Neu; $yp kzpj;jpahyj;jpw;F &.8/- tPjg;gb) 24 

epiyahd Nke;jiy (Neu; $yp kzpj;jpahyj;jpw;F &.6/- tPjg;gb) 18 
nkhj;jk; 134 

epiyahd Nke;jiy fdtsT 
Kuz;   

epiyahd Nke;jiy nrytpd 
Kuz;  



 

1. Neu; nghUs; tpiy Kuz;                          -     

 

= 40,000 (10  –  392,000 ) 

                            40,000 

= 40,000 (10 – 9.80) 

= 8,000 (rhjfk;) 

 
 

2. Neu; nghUs; ghtid Kuz;                           -    

 

 

= 10 (19,000 x 2 – 40,000) 

= 10 (38,000 - 40,000)  

= 10 (2,000) 

= 20,000 (ghjfk;) 

 

3. Neu; nghUs; fpua Kuz;                               -      
 

      = (19,000 x 20) – 392,000 

      = 380,000 – 392,000 

      = 12,000 (ghjfk;) 
 
 

my;yJ 
      
 

       Neu; nghUs; tpiy Kuz; +   
 

= 8,000(rhjfk;) + 20,000(ghjfk;) 

= 12,000 (ghjfk;) 

 

 

4. Neu; $yp tpfpj Kuz;                                   -    

 
 
= 62,000 (24 – 1,364,000/62,000) 

= 62,000 (24 -22)  

= 62,000 x 2 

= 124,000 (rhjfk;) 
 
 
 
 
 

 epak Neu; 
nghUs; 
tpiy 

cz;ikahd 
cw;gj;jpw;fhd 
epak Neu; nghUs; 
ghtid 

cz;ikahd 
cw;gj;jpw;fhd 
nka; Neu; nghUs; 
ghtid 

( 

( 

nka; Neu; 
nghUs; 
nfhs;tdT 

epak Neu; 
nghUs; tpiy 

nka; Neu; nghUs; 
tpiy ( 

( 

cz;ikahd cw;gj;jpw;fhd 
epak Neu; nghUs; fpuak;  

nka; Neu; nghUs; fpuak;

    

Neu; nghUs; ghtid Kuz;

    

cz;ikahd 
Neu; $yp 
kzpj;jpahyq;fs; 

epak Neu; 
$yp; tpfpjk;

  

nka; Neu; $yp; 
tpfpjk;  ( 

( 



 

5. Neu; $yp tpidj;jpwd; Kuz;                               -    

 

= 24 (19,000 x 3 – 62,000) 

= 24 (57,000 – 62,000)  

= 24 (5000) 

= 120,000 (ghjfk;) 
 

 

6. Neu; $ypf; fpua Kuz;                                       -      

 

= 19,000 x 72 –  1,364,000 

= 1,368,000 –  1,364,000 

=  4,000 (rhjfk;) 

 
my;yJ 

      

                Neu; $yp tpfpj Kuz;; +   

                                                    = 124,000 (rhjfk;) +  120,000 (ghjfk;) 
                       =  4,000 (rhjfk;) 

 

 

7. khWk; Nke;jiy nrytpd Kuz;                             -    

 

 

= 62,000 (8 – 558,000/62,000) 

                                                                           = 62,000 (8 – 9)  

                                                                           = 62,000 x 1 

                                                                                   = 62,000 (ghjfk;) 
 

 

8. khWk; Nke;jiy tpidj;jpwd; Kuz;                           -   
 

= 8 (19,000 x 3 – 62,000)  

= 8 (57,000 – 62,000)  

= 8 (5,000) 

= 40,000  (ghjfk;) 
 

 

epak khWk; 
Nke;jiy 
tpfpjk; 

cz;ikahd 
cw;gj;jpw;fhd 
epak Neu; $yp 
kzpj;jpahyq;fs;;

  

cz;ikahd 
Neu; $yp 
kzpj;jpahyq;fs;

  

( 

( 

epak Neu; 
$yp; tpfpjk; 

cz;ikahd 
cw;gj;jpw;fhd 
epak Neu; $yp 
kzpj;jpahyq;fs;;

 

cz;ikahd 
Neu; $yp 
kzpj;jpahyq;fs;

  

( 

( 

cz;ikahd cw;gj;jpw;fhd 
epak Neu; $yp fpuak;  

nka;; Neu; $yp; fpuak;
  

  

Neu; $yp tpidj;jpwd; 
Kuz;    

cz;ikahd 
Neu; $yp 
kzpj;jpahyq;fs; 

epak khWk; 
Nke;jiy 
tpfpjk;  

nka; khWk; 
Nke;jiy 
tpfpjk;  

( 

( 



9. khWk; Nke;jiy fpua Kuz;                               -      

 
= 19,000 x 24 – 558,000  

= 456,000 – 558,000 

= 102,000 (ghjfk;) 

my;yJ 

      

                khWk; Nke;jiy nrytpd Kuz;; +   

  
= 62,000 (ghjfk;) +  40,000 (ghjfk;) 

=  102,000 (ghjfk;) 

10. epiyahd Nke;jiy nrytpd Kuz;                     -    

=  345,600 – 361,000 

=  15,400 (ghjfk;) 

 

11. epiyahd Nke;jiy fdtsT Kuz;                               -   
 

                    =  345,600 (19,000 – 19,200)                                                                                                          

19,200 

=  18 (200) 

=  3,600 (ghjfk;) 

 

12. epiyahd Nke;jiy fpua Kuz;                            -    
  

= (19,000 x 18 – 361,000) 

=  (342,000 – 361,000) 

=  19,000 (ghjfk;) 

my;yJ      

                                  +   

 

= 15,400 (ghjfk;) + 3,600 (ghjfk;) 

=  19,000 (ghjfk;) 

epiyahd Nke;jiy fdtsT 
Kuz;   

epiyahd Nke;jiy nrytpd 
Kuz;  

cz;ikahd cw;gj;jpw;fhd 
epak khWk; Nke;jiy fpuak;  

nka; khWk; Nke;jiy 
fpuak;    

khWk; Nke;jiy 
tpidj;jpwd; Kuz;

   

ghjplg;gl;l epiyahd 
Nke;jiy fpuak;  

nka; epiyahd Nke;jiy 
fpuak;    

myFnfhd;;;Wf;fhd 
ghjplg;gl;l 
epiyahd Nke;jiy 
cwpQ;ry; tpfpjk; 

cz;ikahd 
cw;gj;jp 
myFfs;  

ghjplg;gl;l 
cw;gj;jp 
myFfs; 

  

( ( 

- 

cz;ikahd cw;gj;jpw;fhd 
epak epiyahd Nke;jiy 
fpuak;  

nka; epiyahd 
Nke;jiy fpuak;
  


